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General Instructions / Wﬁ%m
This Questlon booklct has two Parts — Part-A and Part-B.

Candidates™can take”away”thé "Question Bookléet afteﬁ‘“bompletlon of“the

Examination.

39 9 Yfeaent § g W § — WW-A 9°1 Wm-B.

"-A H 40 3% & Tgfawcda A § Fre IW 3 & f@ ™ OMR 3| = w
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PART-A / WT-A
8)
( MCQ BASED QUESTION
A

( oy )
A F.M.-40 |Time -1 Hour 30 Min,
(m;ﬁ'-'llz:l‘ ??&t;nﬁc;&;x“rgc; (quits-40) (vu-1 9130 frraz)

INSTRUCTIONS / 3w :

1.

S.H

nswer Sheet.

Carefully fill up the necessary particulars on thc OMR A

mawmmmﬁﬁamomzmm'm‘-ﬂl

Put vour full signature on the OMR Answer Sheet in the spacc

provided.

Y ST U FER OMR I T W A T A R H |

There are 40 Multiple Choice Questions in this Part.

7@ ¥ 8 Fet 40 qg-faehedia 5 8 |

All questions are compulsory. Each question carries 1 mark.

Hﬁuﬁ%mhyﬁaﬁilmmﬁmlﬁﬁmﬁl

There is no negative marking for any wrong answer.

Ted I % fore 1S 37 T8 HR |

Read all the instructions provided on page 2 of the OMR Answer
Sheet carefully and do accordingly.

OMR 3 % % 98 2 W ¥eu @it Fidwl 1 Arg ¢ aun 36 e
&4 |
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darken duly

Four options are given for each question. You have to
the most suitable answer on your OMR Answer Sheet. US¢ only

Blue or Black Ball-Point Pen. The use of Pencil is not allowed.

WS S 9N e A ™ E | 37 @ WA IugeH I A AT a1 OMR
T T e e e | e e a1 e Afel- g Fe H
WA | IRy w5 e afi 2

Adhere to the instructions provided in the OMR Answer Sheet
very carefully otherwise your OMR Answer Sheet will be treated as

invalid and it wi]] not be evaluated.

OMRWWW%&@WWWmeWOMR
IR TTH T §IM 3R IqehT [ediehA TE R TR |
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Which problem of an cconomy is related to the choicce of tcchnology

of production ?
(1) What to produce ? (2)  In what quantity to produce ?

(3)  How to produce ? (4)  For whom to produce ?

ST F S GTen @ dey 3 &) aede T A E 2

(1) 0 IARA &L 2 () Feaed 5T § e B2
}J/‘%H‘é‘mq#%? (4) ?m*ﬂéﬁ%rqma?aﬁ?

Total utility is maximum when the value of marginal utility is

(1) Zero (2) Negative
i3) Positive (4) Minimum
}l/ 7= (2) ETeTR
| (3) W _ (4) AaH

XA-ECO-(OPT)-A
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Generally, an Indifference curve is

(1) Circular shaped (2) ‘U’shaped

(3)  Convex to the origin (4) Concave to the origin

TIHTH: T IR 95 2l &

(1) JOsR - (2) U’ HEHR &
/(s}/aaﬁqﬁahm @ e forg ) R S

Generally, the slope of a demand curve is

(1) Positive -

(2) Negative

(3) First positive, then negative

(4) First negative, then positive

(1) YATcHS

(12)/9080| 5 / 32

XA-ECO-(OPT)-A



<>

The price elasticity of demand at

demand curve is

(1)  Zero (2) One

(3)  More than one (4) Less than one

T [T T AT o6k & M fag W AT Bl B A s
}’/ T @ T

(3) TS ¥ iy : 4) THAHA

Which of the following curves is inverted ‘U’ shaped ?

(1)  Average fixed cost (2)  Average variable cost

(3) Marginal cost (4) Average product
1 5§ T8 o5 1 SR 30T U’ AR &7 2y & ?

/ﬁmﬁmm (2) e oReRdt s

(3) dmia @@ @) shed s

ECo

Arty

midpoint of a straight line

.. Bl ¥
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The m
ea : , . -
Surement of returns to scale in production function

Q=AL“K[‘ is
(1)  a+p 2  a-p
B axp @ a/p

A B O = ALCKP Rt e ) T ¥
U @ «-p

(B8] axp ) a/B
Marginal cost and Average cost are équa], when
(1) Marginal cost diminishes

(2) | Marginal cost increases

(3) ~ Marginal cost becomes minimum

(4)  Average cost becomes minimum
diqia era 3R AT AT T G % R A €, o
(1) i o e }4/ i T e &

(3) i T REAH gt & (4) 3R AT A g &

XA-ECO-(OPT)-A (12)/9080 |
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10.

<> | B

Which of the following curves is parallel to output axis ?

(1) Total fixed cost curve (2)  Average variablc cost curve
(3)  Marginal cost curve (4)  Average cost curve
ﬁq‘f‘aﬁaaﬁﬁﬁq-ma%mﬁ 3] F U FA ¢ ?

(1) ¥ fer arm =% (2) o giadt @rE am

(3), " dimia T am (@) sl e

Which type of goods are produced in perfect’competitive market ?
(1) Unrelated (2)  Inferior

(3) Homogeneous (4) Differentiated
qﬁﬂﬁﬂ?ﬁmwﬁﬁﬁﬂmaﬁaﬁaﬁﬁmmﬁ ?

(1) ewdfug (2) e
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Under ‘ris : : GTRE
er ceteris paribus, if the quantity supplicd of a good increasces
b » l.':' . " ] i

¥ 6% due to an increasc in its price by 5% then what will be the

value of price clasticity of supply of the good ?

(1 30 (2) 083

(3) 1-2 (4) )

¥ A WA e W Pl e @ w § 59 # ghg @R F 30 e F
qmaﬁmme%aamﬁ%ﬁaﬁaﬁﬁhﬁéhaﬁa$wmamﬁm?

(1) 30 - (2 o83

/QK/IQ 4) 2

In short run a perfectly competitive firm suffers loss when

(1) MR>MC (2) MR < MC
(3) P>AC (4) P<AC
3mmmﬁﬁqmqﬁnﬁﬁﬁﬂﬁaﬁﬁ%ﬁﬁtﬁm
(1) MR>MC ' | ( MR < MC
(3) P>AC 4) P<AC

(12)/9080] ¢ / 32
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a good arc respectiyol.

13.  If the market demand and market supply of a go P Ively

: : n by whj
D and S, then the market equilibrium can b¢ shown by which

the following situations ?

(1). D=3S8 (2) D-S=0
/ .
(3) g‘ =1 (4)  All of these

ﬁ%%ﬁaﬁéhmmﬁmmmwmqﬁﬁmnpﬁﬁs%ﬁamﬁmm

&l 791 1§ | g el 9 qoir s w6 & 2
/QV/D=S (2 D-s=0
(3) §=1 (4) T g wft

14. In the situation of excess of supply, the tendency of price of a

good is
(1)  toincrease (2)  to fall

(3) toremain unchanged (4) ga) of these

XA-ECO-(OPT)-A L(12)79080] 10 / 32
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i snfirer ) Refty of Rt s oY A F e &) wafer et B
PraaL @
(3) sRafaa ©(4) T ¥ o

In the situation of free entry and exit of firms, the Market price is

always equal to

(1) Minimum Marginal cost

. (2) Total Fixed Cost

(3) Minimum Average Cost

(4)  Average Variable Cost

.méwmmmaﬁﬁaﬁﬁwaﬁmﬁa ............. F TWER
ﬁ%:

) w5 R A

(3) an s e ;41 it aRadi @

(12)/9080| 11 / 32
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16.

17.

market.

(1)  Equilibrium

(3)  Excess supply

I iR wiag § s o
(1) ¥qem
(3) Y aMfueg

What is the number of firms in Monc-ploly ?

(1) 1

3 4

TFRR | A B G&T e gt o

>

: ituation of
Due to maximum fixed price, the situatio

I

XA-ECO-(OPT)-A

(2) |Excess demand

(4) Deficient demand

1
(4) =7 10

e

|
() 2

2 2]

4 10

[(12)79080
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18.

19.

<>

A monopolist can control
(1) only price
(2)  only quantity

(3) both price and quantity

(4) either price or'quantity
TF TEHERT PR R g €
(1) et HEd Hl

(2) ael SeIEH HEl

Wﬁwmﬁ.aﬁ

Arts

(@) e a1 IR " ferell T
The market structure in which there are only two firms, is called
(1)  Monopoly (2)  Duopoly

(3)  Oligopoly

XA-ECO-(OPT)-A

(4) Perlect competition

(12)/9080
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21.
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R TR ST T Shaer 3 B @, 99 e Il €

(1) R y%—aﬁﬂw
@) swER (4) ot s

In which market structure, formation of ‘cartel’ is possible ?

/

(1)  Perfect competition \9}/ Monopoly
(3)  Duopoly (4)  All of these
rer Fior REE TR Y ST S & g & 2

, | ~
(1) o1 sicatm % TR
(3) Tg-afuer (4) T @ g

Who is the author of the book ‘The General Theory of Employment,

Interest and Money’? .

(1)  Alfred Marshall (2)  Adam Smith

(3) J. M. Keynes (4)  J.N. Keynes

XA-ECO-(OPT)-A ﬁmygoso 14 / 32
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T AR w aie Tl et e Y A gEE § O
FHE 2 |

(1) s ARIA (2) usH [y
ﬁ/’a“. TH. &g 4) I . HF

What is the relationship between GDP and NDP ?
(1) GDP = NDP - Depreciation

(2) GDP = NDP x Depreciation

- (3) GDP = NDP + Depreciation

(4) NDP = GDP + Depreciation

GDP 3R NDPp # &1 §a¥ § ?

-

(1) Op = NDP - ¢96®  (2) GDP = NDP x 3@

(3 GDP=NDP+Teded  (4) NDP= GDP + Toded

Wheat is an intermediate good in manufacturing of which of the

following goods ?

(1) Chapati (2)  Biscuits

(3) Bread (4)  All of these

XA-ECO-(OPT})-A (12)/9080| 15 / 32
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= o fg awq & o o 7% s qemeet oW 8 2

L]

(1) =g (2) fawpe
(3) s )ﬂ')/ 0 9 |t

Which of the following items is not included in the Calc'-llatiﬂn_uf

GDP in a year ?

(1) Value of a new car (2)  Selling price of a used car

(3)  Tuition fee of a teacher (4)  Value of breads

%ﬁa&ﬁemaﬁmﬁﬁmﬁﬁhmﬁ?ﬁaﬁﬁ?ﬂ?m?

(1) 7 FR = g4 (2L IR A e
(3) Ferers = et v (4) W% F gy

GDP can be calculated by which of the following methods .? :
(1) Method of value addition
(2) Income method

(3) Expenditure method

(4)  All of these

*A-ECO-(0PT).A [(12)/9080] 16 / e
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frtfefiaa o @ frm fafa @ GDP & o @ s et & 2
(1) 74 gfg fafy 2) 3 fafy
(3) = fafy })/w’fﬁmﬁ

In the izati -
demonetization done in 2016, which denominations of

C - .
urrencies were taken out of circulation ?

(1)  Rs. 50 and Rs. 100 (2) Rs. 100 and Rs. 500

(3) Rs. 500 and Rs. 1000 (4) - Rs. 500 and Rs. 50

1 2016 § fry Mo Rgdewor 4 fe g & Aie B AEIR e | AR
fear mar a1 2

(1) 50 %93 TF 100 TH (2) 100 9 T 500 T

\@/soow}@flooom (4) 500 ¥TF & 50 T4

Which of the following is a defect of barter system of exchange ?

(1) Easy pricing of goods

Lack of double coincidence of wants

(2)
(3) Easy to compare between prices
(4)  Easy to store values

(12)/9080| 17 / 32
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<>

] P o o e @ frer A @ A E 7

(1) = = e w1 PraRor smaA
ﬁ/w’w%aﬁwqm

(B) T & St qor AT STEE

(4)  TeT =1 HEg AT AW

Which of the following is the central bank of India ?

(1)  State Bankoflndia  (2) Central Bank of India

©

(3) Reserve Bank of India (4) Bank of India

YR 1 e S 1§ § S g

) ot e i @) ¥ i e

XA-ECO-(OPT)-A

[ (12)79080
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In which of the following situations there can be decrease in supply
of money ?

(1)  Decrease in Bank rate

(2) Incre.ase in CRR

(3) Plirchgsing of securities by RBI

(4)  All of these I
ﬁmﬁﬁmqﬁfﬁﬁrﬁaﬂﬁiﬁrﬁﬁﬁm% ?

(1) & A F |

@) 7S ST ST (CRR) 7 gig

(3) RBI ¥ g wfeyfadt &t 54

/(g,;/gﬁﬁ@mﬂ

The . autonomous consumption in the consumption function

C=100+05Yis

1 05 @) 05Y
C
@ 100 @
xA-ECO-[OPT}-A (12)/9080| 19 / 32
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32.

<>

WWC=100+0-5 Yﬁﬁlﬁﬁw%

28

(1) 05 2) 0S5Y

ﬁl/ 100 ' 4 C

Which of the following statements is true regarding the val

of MPC ?
(1) O0>MPC>1 2) 1<MPC<O
. (3) 0<MPCcx 1 (4) 1>MPC<O0

MPC % HH & ¥y # o § @ ®9-0 suq 99 § 2

() O0O>MPC>1 (2) 1<MPC<0

3 0= MPC<1 }5}/ 1> MPC <0

If the value of MPC in an economy is 0-4, then what will be t

value of MPS ?

(1) 04 : (2) 0-6

(3), 25 4 4

XA-ECO-(OPT)-A [(12)79080] 20 / -
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afq ol srelegaen & MPC &1 9/ 0-4 &, d@f Mps &1 T @1 & ?
(1) 04 2) 06

)3)/ 25 @ 4

13.  If there is increase in MPS iﬁ an economy, then the total saving
(1)  will always increase
(2)  will always decrease
_{3) will either decrease or remain unchanged

(4)  will be always unchanged

aﬁ:mimaﬁnﬁmpsﬁqﬁﬁ,a’lamaaﬁﬁ

uf e e ah

(2) e A
(3) it gl erartad T
@) e st g
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35.
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The time period of financial year in India is

(1)  1st January to 31st December

(2) 1st July to 30th June

(3) 1st April to 31st March

(4)  1st August to 31st July |

IRa H faiia oy %t Sty ek €

(1) 1= d31fkwr (2 | 1 S[eie | 30 S
);)/ 1 3 | 31 A (4) _1%@31?@3‘

Which of the following is an example of direct tax ?

(1) GST (2) Excise duty

(8) Corporation tax (4) Tariff

1 5 @ F19-91 Y3 R FH TF [T E 2

(1) =% T& Fa (2) IR WX

)};/ﬁmnm (4) R

XA-ECO-(OPT)-A
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37.
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What is Revenme deficit ?

(1)

(2)

(3)

(4)

Diff
€rénce between Revenue expenditure and Revenuc

receipts

Difference between Capital expenditure and Capital receipts
Difference between Export and Import

Difference between Total expenditure and Total receipt

USTE 91T F1 gt & 2

/u.a/mmeﬁtmuﬁwaim
(2) iﬁﬂﬁmaﬁrfﬁmmﬁwaﬁm
(3) Fraf X s &1 X

(4) T o S A B SAT

In which type of goods there is no rivalry in consumption ?

(1)

(3)

Public goods (2) Consumer goods

Natural goods (4)  Private goods

XA-ECO-(OPT)-A - (12)/9080| 23 / 32
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ﬁij’/iﬁéaﬁﬁﬁfﬂﬁi (2) IoviwT a8
@) STEIE T (4) Frft g

When was World Bank established ?

(I) 1945 (2) 1944

(3) 1947 (4) 1950

fore & 1 e o a9 A g ot

(1) 1945 fgy/f“1944

(3) 1947 (4) 1950

When the foreign exchange rate of a country is determined by

market forces then what is this type of exchange rate called »

(1)  Fixed exchange rate (2)  Floating exchange rate

(3) Managed floating rate (4)  All of these

XA-ECO-(OPT)-A (12)/9080]| 24 / 32
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40. Which of the following is a component of current account. of

Balance of Payment ?

(1) Portfolio investment (2) Foreign aids
(3) Import of goods (4)  Foreign debts

e A S 9 @R 9 O e FA 2

y/rﬂzﬁf’m’fﬁam @) faieh e
(3) SRl I AW (4) ferelt o
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PART-B / wi-B

(SUBJECTIVE BASED QUESTIONS )
( Forvafis snenfa wom )

Class-12 Sub.-Economics F.M.-40 Time -1 Hour 30 Min,

(@i-12) (FRrea-arefyme ) (quits -40) | (FWa-1 w2130 fire)

INSTRUCTIONS / fidw .

1.

o

Examinees are required to answer in their own words as far as

practicable.
SRl TUTEY 3T weg A & e ¥

This question paper has three sections : A, B and C. Total number of

questions is 19,
T YA W A @08 — A, B U5 C ¥ | el v #) ge 10 & |

Section-A — Question Nos. 1 - 7 are Very short answer type.

Answer any five of these questions in maximum 30 words each,
Each question carries 2 marks.

TUS-A H WY WA 1 - 7 AT 7Y I TFR & § |3=r§@%tﬁaqw‘i

% IW g | T e B I aﬁdeSO‘ﬂaﬁﬁﬁﬁq |gaﬂa;m3,=}

_WﬂﬁTZWﬁWﬁ?{EI

XA-ECO-(OPT)-A (12)/9080] 26 ; 39
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Section-B — Question Nos. 8 - 14 are Short answer type. Answcr

any five of thesec questions in maximum 50 words cach. Each

question carries 3 marks.

TUE-B — W N 8 - 14 Y Iwia § | ¢ A Rl ofa S F I
AT | Y% TR W I afuwan 50 v O AR | e T H
At 3 o fRuif@ @ |

Section-C — Question Nos. 15 - 19 are Lorg answer type. Answer
any three of these questions in maximum 100 words each. Each

question carries S5 marks.

@Ue-C — N &l 15 - 19 & 3l & | 7 @ Rl A Tl 6 IW
AR | T T I Auwa 100 v # AR | w&w wE Al
AR & 3 Pt |

XA-ECO-(OPT)-A (12)/9080| 27 / 32
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Section - A

318

@ ug - A
( Very short answer type questions )
( afq g wdtg woer )
Answer any five questions. 2x5=10

=gt eyt & I 2
. . What is meant by the economic problem ‘what is to produce ?’ ?
S T R I F 2’ A ¥ 2
When does the situation of excess dem{:md arise in the market ?

AR | Hi sias %t Rufy w9 3w et & 2

If the market demand curve for a monopolistic good is Q = 25 - 2P,

then find the total revenue ‘curve of a monopolist.

¢ U THIYSRY 9&] & A0 aeR 90 a5 Q=25-2P%, al TsiusRt &
ol F s = A i

4/ Define Marginal revenue.
/A T @ aRwE ST
57 What is meant by recession ?

03 W R s ® 2

XA-ECO-(OPT)-A (12)/9080
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what do you m b At

, 1 ean . :
6 y Revenue receipts of government ?

R S T W ¥ s E

“_-1

What is the meaning of devaluation of money ?
TR < SR R e ¥ )
Section - B
g ug - B
( Sht;rt answer type questions )
( Y IWT W)
Answer any five questions. 3x5=15
ferel ot sl & I <

8,/l§;{plain with diagranﬁ that total utility is maximum when marginal

utility is zero.

Wﬁwﬁm%wmﬁwﬁwwmﬁmm
B 1

9. Why is short run average cost curve “U’shaped ?
FEqRTA sﬁuaarrmaﬁ*u'm%mazﬁﬁm% ?

M%at will be the effect of increase in income of a consumer on
market equilibrium ? Explain with diagram.
mﬁmﬁmﬁqﬁﬂmﬁﬂmwwmﬁm ? tats @ o=
Hife |

XA-ECO-(OPT)-A (12)/9080| 29 / 32
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11. What is GDP ? Write down the three identities of calculation of GDp

™

by three methods.

S == & 2 A Pl @ ol ) momn & R o Prf Y fefan

12. Define the following :
a)  Repo rate

b)  Statutory liquidity ratio
Fiefea = aitnfye it
a) R

b) S T A (SLR)

}/ﬁeﬁne marginal propensity to consume (MPC) and marginal

propensity to save (MPS). Explain that MPC + MPS = 1.

wﬁﬁ%uq&r(mpcwﬁraﬂaﬁmw%{mpsmﬁqﬁmﬁa -
#ammﬁﬁiq%mpc+mps——1

/LALhc consumption function of an economy is C = 150 + Q-6 Y, then

calculate MPC and Multiplier.

i< forelt arefomerean | IO wel C = 150 + 0.6 Y%.Fﬁmpcawmsm
A9 71d Fifea

XA-ECO-(OPT)-A
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Section - ¢
"ig-¢
F Long answer type questions )
( <t It W )
Answer any three questions.
Fardh s 5 e &
Vhat do Y(_)ﬁ understand by price elasticity of demand ?
Show the following situations in diagraﬁs :
a) Perfectly elastic demand curve
b)  Perfectly inelastic demand curve
¢) Unitary elastic demand curve.
s ) S T ST W © 7
o e Refedt 3 et & o W S
a) e R
by ot e T

o) S ¥ ST SRR A |

XA-ECO-(OPT)-A (12)/9080

Arts

5x3=15 °
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16. What is cost ? Explain that in ghort run, average cost is the sum of

average [ixed cost and average variable cost.

GuGic2 Il ?WW%W@ﬁaﬁmm,aﬁwﬁmmm
Hra ufterdt S F 4 & s e

/./Write down the characteristics of perfectly competitive market ?

When will a perfectly competitive firm be in equilibrium ? Show in

diagram.
T i R @ e e o ot R w e g A
¥ 2 TEifE % wmem @ gui

b Mw will you calculate national income from GDP ? Explain.
SIS ¥ UL 3™ H OET A HY FE 7 AR PIAT

}«. How does the central bank control credit in an economy ? Explain.

F3 9% g 1 fFa R @ W e wwar € 2 sren s
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